

A Note on Classes of Analytic Functions Concerned with Uniformly Starlike and Convex Functions

Hesam Mahzoon

Department of Mathematics
Firoozkooh Branch, Islamic Azad university
Firoozkooh, Iran
mahzoon_hesam@yahoo.com

Abstract. In this paper, using the generalized Al-Oboudi operator we introduce the new subclass $\mathcal{H}_\lambda^\mu(\alpha, \beta)$ of analytic functions. We also consider the subclass $\mathcal{H}_\lambda^{\mu*}(\alpha, \beta)$ of $\mathcal{H}_\lambda^\mu(\alpha, \beta)$. Coefficient inequalities and convolution conditions are investigated for these classes.

Mathematics Subject Classification: 30C45

Keywords: Analytic functions; Coefficient Inequalities; Salagean operator; Hadamard product; Al-Oboudi operator

1. INTRODUCTION

Let \mathcal{A} be a class of analytic functions f of the form

$$(1.1) \quad f(z) = z + \sum_{m=2}^{\infty} a_m z^m.$$

defined in the open unit disk $\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}$.

Sălăgean [6] has introduced the following operator $D^n : \mathcal{A} \rightarrow \mathcal{A}$ defined by $D^0 f(z) = f(z)$, $D^1 f(z) = D(f(z)) = zf'(z)$ and $D^n f(z) = D(D^{n-1}f(z))$, for $n \in \mathbb{N} = \{1, 2, 3, \dots\}$.

Definition 1.1. [1] For $n \in \mathbb{N}$ and $\lambda \geq 0$, D_λ^n denotes the Al-Oboudi operator defined by $D_\lambda^n : \mathcal{A} \rightarrow \mathcal{A}$, $D^0 f(z) = f(z)$, $D_\lambda^1 f(z) = (1 - \lambda)f(z) + \lambda zf'(z) = D_\lambda f(z)$ and $D_\lambda^n f(z) = D_\lambda(D_\lambda^{n-1}f(z))$.

Definition 1.2. Let $\mu, \lambda \in \mathbb{R}$, $\mu \geq 0$, $\lambda \geq 0$ and $f(z) = z + \sum_{m=2}^{\infty} a_m z^m$. We denote by D_λ^μ the linear operator defined by $D_\lambda^\mu : \mathcal{A} \rightarrow \mathcal{A}$,

$$D_\lambda^\mu f(z) = z + \sum_{m=2}^{\infty} [1 + (m-1)\lambda]^\mu a_m z^m.$$

Definition 1.3. A function $f \in \mathcal{A}$ is said to be in the class $\mathcal{H}_\lambda^\mu(\alpha, \beta)$ if

$$(1.2) \quad \Re \left\{ \frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} \right\} < \alpha \left| \frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} - 1 \right| + \beta, \quad (z \in \mathcal{U})$$

for some $\alpha \leq 0$, $\beta > 1$, $\mu \geq 0$ and $\lambda \geq 0$.

We note that $\mathcal{H}_1^0(\alpha, \beta) \equiv \mathcal{MD}(\alpha, \beta)$, $\mathcal{H}_1^1(\alpha, \beta) \equiv \mathcal{ND}(\alpha, \beta)$, for $n \in \mathbb{N}_0 = \{0, 1, 2, 3, \dots\}$. The classes $\mathcal{MD}(\alpha, \beta)$ and $\mathcal{ND}(\alpha, \beta)$ are introduced by Owa [5].

2. COEFFICIENT INEQUALITIES FOR THE CLASS $\mathcal{H}_\lambda^\mu(\alpha, \beta)$

We derive sufficient conditions for f which are given by using coefficient inequalities.

Theorem 2.1. If $f \in \mathcal{A}$ satisfies

$$\sum_{m=2}^{\infty} [1 + (m-1)\lambda]^\mu \{ |(m-1)\lambda - \beta + 2| + |(m-1)\lambda - \beta| - 2\alpha(m-1) \} |a_m| \leq \beta - |2 - \beta|$$

for some $\alpha(\alpha \leq 0)$, $\beta > 1$, $\mu \geq 0$ and $\lambda \geq 0$, then $f \in \mathcal{H}_\lambda^\mu(\alpha, \beta)$.

Proof. Let

$$\sum_{m=2}^{\infty} [1 + (m-1)\lambda]^\mu \{ |(m-1)\lambda - \beta + 2| + |(m-1)\lambda - \beta| - 2\alpha(m-1) \} |a_m| \leq \beta - |2 - \beta|$$

for $f \in \mathcal{A}$. It suffices to show that

$$(2.1) \quad \left| \frac{\left(\frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} - \alpha \left| \frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} - 1 \right| - \beta \right) + 1}{\left(\frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} - \alpha \left| \frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} - 1 \right| - \beta \right) - 1} \right| < 1, \quad (z \in \mathcal{U}).$$

We have,

$$\begin{aligned} & \left| \frac{\left(\frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} - \alpha \left| \frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} - 1 \right| - \beta \right) + 1}{\left(\frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} - \alpha \left| \frac{D_\lambda^{\mu+1} f(z)}{D_\lambda^\mu f(z)} - 1 \right| - \beta \right) - 1} \right| \\ &= \left| \frac{D_\lambda^{\mu+1} f(z) - \alpha e^{i\theta} |D_\lambda^{\mu+1} f(z) - D_\lambda^\mu f(z)| - \beta D_\lambda^\mu f(z) + D_\lambda^\mu f(z)}{D_\lambda^{\mu+1} f(z) - \alpha e^{i\theta} |D_\lambda^{\mu+1} f(z) - D_\lambda^\mu f(z)| - \beta D_\lambda^\mu f(z) - D_\lambda^\mu f(z)} \right| \\ &< \frac{|2 - \beta| + \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu |(m - 1)\lambda - \beta + 2| |a_m| - \alpha \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu (m - 1)\lambda |a_m|}{\beta - \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu |(m - 1)\lambda - \beta| |a_m| + \alpha \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu (m - 1)\lambda |a_m|}. \end{aligned}$$

The last expression is bounded above by 1 if

$$\begin{aligned} & |2 - \beta| + \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu |(m - 1)\lambda - \beta + 2| |a_m| - \alpha \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu (m - 1)\lambda |a_m| \\ & \leq \beta - \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu |(m - 1)\lambda - \beta| |a_m| + \alpha \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu (m - 1)\lambda |a_m| \end{aligned}$$

which is equivalent to our condition

$$\sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu \{ |(m - 1)\lambda - \beta + 2| + |(m - 1)\lambda - \beta| - 2\alpha(m - 1) \} |a_m| \leq \beta - |2 - \beta|$$

of the Theorem. □

3. RELATION FOR $\mathcal{H}_\lambda^{\mu^*}(\alpha, \beta)$

Definition 3.1. By Theorem (2.1), the class $\mathcal{H}_\lambda^{\mu^*}(\alpha, \beta)$ is considered as the subclass of $\mathcal{H}_\lambda^\mu(\alpha, \beta)$ consisting of f satisfying:

$$(3.1) \quad \sum_{m=2}^{\infty} [1 + (m-1)\lambda]^\mu \{ |(m-1)\lambda - \beta + 2| + |(m-1)\lambda - \beta| - 2\alpha(m-1) \} |a_m| \leq \beta - |2 - \beta|$$

for some $\alpha \leq 0$, $\beta > 1$ and $n \in \mathbb{N}_0$.

We note that $\mathcal{H}_1^{0^*}(\alpha, \beta) \equiv \mathcal{MD}^*(\alpha, \beta)$, $\mathcal{H}_1^{1^*}(\alpha, \beta) \equiv \mathcal{ND}^*(\alpha, \beta)$, $\mathcal{H}_1^{n^*}(\alpha, \beta) \equiv \mathcal{M}^*(\alpha, \beta, n)$, $n \in \mathbb{N}_0 = \{0, 1, 2, 3, \dots\}$. The classes $\mathcal{MD}^*(\alpha, \beta)$ and $\mathcal{ND}^*(\alpha, \beta)$ are studied by Owa [5] and $\mathcal{M}^*(\alpha, \beta, n)$ is the class studied by Mahzoon and Latha [4].

Theorem 3.2. If $f \in \mathcal{A}$, then $\mathcal{H}_\lambda^{\mu^*}(\alpha_1, \beta) \subseteq \mathcal{H}_\lambda^{\mu^*}(\alpha_2, \beta)$ for some α_1, α_2 , such that $\alpha_1 \leq \alpha_2 \leq 0$.

Proof. For $\alpha_1 \leq \alpha_2 \leq 0$, we have

$$(3.2) \quad \begin{aligned} & \sum_{m=2}^{\infty} [1 + (m-1)\lambda]^\mu \{ |(m-1)\lambda - \beta + 2| + |(m-1)\lambda - \beta| - 2\alpha_2(m-1) \} |a_m| \\ & \leq \sum_{m=2}^{\infty} [1 + (m-1)\lambda]^\mu \{ |(m-1)\lambda - \beta + 2| + |(m-1)\lambda - \beta| - 2\alpha_1(m-1) \} |a_m|. \end{aligned}$$

Therefore, if $f \in \mathcal{H}_\lambda^{\mu^*}(\alpha_1, \beta)$ then $f \in \mathcal{H}_\lambda^{\mu^*}(\alpha_2, \beta)$. □

4. CONVOLUTION OF THE CLASS $\mathcal{H}_\lambda^{\mu^*}(\alpha, \beta)$

Definition 4.1. For analytic function f_i given by

$$(4.1) \quad f_i(z) = z + \sum_{m=2}^{\infty} a_{m,i} z^m \quad (i = 1, 2, 3, \dots, p).$$

the Hadamard product of f_1, f_2, \dots, f_p is defined by:

$$(4.2) \quad (f_1 * f_2 * \dots * f_p)(z) = z + \sum_{m=2}^{\infty} \left(\prod_{i=1}^p a_{m,i} \right) z^m$$

Theorem 4.2. *If $f_1 \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta_1)$ and $f_2 \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta_2)$ for some α ($\alpha \leq 2 - \sqrt{5}$) and β_1, β_2 ($1 < \beta_1, \beta_2 \leq 2$), $\lambda \geq 1$ and $\mu \geq 0$, then $(f_1 * f_2) \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta)$, where*

$$\beta = 1 + \frac{(\beta_1 - 1)(\beta_2 - 1)(\lambda - \alpha + 1)}{(\beta_1 - 1)(\beta_2 - 1) + (1 + \lambda)^\mu(\lambda + 1 - \alpha - \beta_1)(\lambda + 1 - \alpha - \beta_2)}$$

Proof. From (3.1), for $f \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta)$ with $1 < \beta \leq 2$ and $\lambda \geq 1$, we have

$$\begin{aligned} & \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu \{ [(m - 1)\lambda - \beta + 2] + [(m - 1)\lambda - \beta] - 2\alpha(m - 1) \} |a_m| \\ & \leq \sum_{m=2}^{\infty} [1 + (m - 1)\lambda]^\mu \{ [(m - 1)\lambda - \beta + 2] + |(m - 1)\lambda - \beta| - 2\alpha(m - 1) \} |a_m| \\ & \leq 2(\beta - 1). \end{aligned}$$

That is, if $f \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta)$, then

$$(4.3) \quad \sum_{m=2}^{\infty} \frac{[1 + (m - 1)\lambda]^\mu [m(\lambda - \alpha) + (1 - \lambda) + (\alpha - \beta)]}{\beta - 1} |a_m| \leq 1.$$

Conversely, if f satisfies:

$$(4.4) \quad \sum_{m=2}^{\infty} \frac{[1 + (m - 1)\lambda]^\mu [m(\lambda - \alpha) + (1 - \lambda) + (1 - \beta + \alpha)]}{\beta - 1} |a_m| \leq 1,$$

then $f \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta)$. From (4.3), if $f_1 \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta_1)$, then

$$(4.5) \quad \sum_{m=2}^{\infty} \frac{[1 + (m - 1)\lambda]^\mu [m(\lambda - \alpha) + (1 - \lambda) + (\alpha - \beta_1)]}{\beta_1 - 1} |a_{m,1}| \leq 1$$

and also if $f_2 \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta_2)$, then

$$(4.6) \quad \sum_{m=2}^{\infty} \frac{[1 + (m - 1)\lambda]^\mu [m(\lambda - \alpha) + (1 - \lambda) + (\alpha - \beta_2)]}{\beta_2 - 1} |a_{m,2}| \leq 1.$$

Applying the Schwarz's inequality and using (4.5) and (4.6), we have the following inequality:

$$(4.7) \quad \sum_{m=2}^{\infty} \sqrt{\frac{PQR}{S}} \sqrt{|a_{m,1}| |a_{m,2}|} \leq 1$$

where $P = [1 + (m - 1)\lambda]^{2\mu}$, $Q = \{m(\lambda - \alpha) + (1 - \lambda) + (\alpha - \beta_1)\}$,
 $R = \{m(\lambda - \alpha) + (1 - \lambda) + (\alpha - \beta_2)\}$ and $S = (\beta_1 - 1)(\beta_2 - 1)$. From (4.4) and (4.7), if
the following inequality

$$\sum_{m=2}^{\infty} \frac{[1 + (m - 1)\lambda]^{\mu} [m(\lambda - \alpha) + (1 - \lambda) + (1 - \beta + \alpha)]}{\beta - 1} |a_{m,1}| |a_{m,2}|$$

$$\leq \sum_{m=2}^{\infty} \sqrt{\frac{PQR}{S}} \sqrt{|a_{m,1}| |a_{m,2}|}$$

is satisfied, then we say that $(f_1 * f_2) \in \mathcal{H}_{\lambda}^{\mu*}(\alpha, \beta)$. This inequality holds true if

$$(4.8) \quad \frac{[1 + (m - 1)\lambda]^{\mu} [m(\lambda - \alpha) + (1 - \lambda) + (1 - \beta + \alpha)]}{\beta - 1} \sqrt{|a_{m,1}| |a_{m,2}|} \leq \sqrt{\frac{PQR}{S}}$$

for all $m \geq 2$. Therefore, we have

$$(4.9) \quad \frac{[1 + (m - 1)\lambda]^{\mu} [m(\lambda - \alpha) + (1 - \lambda) + (1 - \beta + \alpha)]}{\beta - 1} \leq \frac{PQR}{S}$$

which is equivalent to

$$\beta \geq 1 + \frac{S[m(\lambda - \alpha) + (1 - \lambda) + \alpha]}{S + \sqrt{PQR}}$$

for all $m \geq 2$. Let $\sigma(m)$ be the right hand side of the last inequality. Further, let us define $\zeta(m)$ by numerator of $\sigma'(m)$. Then $\zeta(m)$ gives us that.

$$\begin{aligned}
 (4.10) \quad \zeta(m) &= (\beta_1 - 1)(\beta_2 - 1)\{(\lambda - \alpha)(\beta_1 - 1)(\beta_2 - 1) + (\lambda - \alpha)[1 + (m - 1)\lambda]^\mu \beta_1 \beta_2 \\
 &\quad - \mu\lambda[1 + (m - 1)\lambda]^{\mu-1}[m(\lambda - \alpha) + (1 - \lambda) + \alpha]^3 \\
 &\quad + \mu\lambda[1 + (m - 1)\lambda]^{\mu-1}[m(\lambda - \alpha) + (1 - \lambda) + \alpha]^2 \beta_1 \\
 &\quad + \mu\lambda[1 + (m - 1)\lambda]^{\mu-1}[m(\lambda - \alpha) + (1 - \lambda) + \alpha]^2 \beta_2 \\
 &\quad - \mu\lambda[1 + (m - 1)\lambda]^{\mu-1}[m(\lambda - \alpha) + (1 - \lambda) + \alpha] \beta_1 \beta_2 \\
 &\quad - [1 + (m - 1)\lambda]^\mu (\lambda - \alpha)[m(\lambda - \alpha) + (1 - \lambda) + \alpha]^2\} \\
 &\leq (\beta_1 - 1)(\beta_2 - 1)\{(\lambda - \alpha) + 4(\lambda - \alpha)[1 + (m - 1)\lambda]^\mu \\
 &\quad - \mu\lambda[1 + (m - 1)\lambda]^{\mu-1}[m(\lambda - \alpha) + (1 - \lambda) + \alpha]^3 \\
 &\quad + 4\mu\lambda[1 + (m - 1)\lambda]^{\mu-1}[m(\lambda - \alpha) + (1 - \lambda) + \alpha]^2 \\
 &\quad - \mu\lambda[1 + (m - 1)\lambda]^{\mu-1}[m(\lambda - \alpha) + (1 - \lambda) + \alpha] \\
 &\quad - [1 + (m - 1)\lambda]^\mu (\lambda - \alpha)[m(\lambda - \alpha) + (1 - \lambda) + \alpha]^2\} \leq 0
 \end{aligned}$$

for $\alpha \leq 2 - \sqrt{5}$ and $\lambda \geq 1$ which shows that $\sigma(m)$ is decreasing for $m \geq 2$, $\alpha \leq 2 - \sqrt{5}$, $\lambda \geq 1$ and for $\mu \geq 0$. Thus $\sigma(2)$ is the maximum of $\sigma(m)$ for $\alpha \leq 2 - \sqrt{5}$, $\lambda \geq 1$ and for $\mu \geq 0$.

□

Theorem 4.3. *If $f_i \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta_i)$, ($i = 1, 2, 3, \dots, p$) for some α ($\alpha \leq 2 - \sqrt{5}$)*

β_i ($1 < \beta_i \leq 2$), $\mu \geq 0$ and $\lambda \geq 1$, then

*$(f_1 * f_2 * f_3 * \dots * f_p) \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta)$, where*

$$(4.11) \quad \beta = 1 + \frac{A_p}{B_p - C_p D_p + E_p} \quad (p \geq 2),$$

$$(4.12) \quad A_p = \prod_{i=1}^p (\beta_i - 1)(\lambda + 1 - \alpha)^{p-1},$$

$$(4.13) \quad B_p = (\lambda + 1 - \alpha)^{p-2} \prod_{i=1}^p (\beta_i - 1),$$

$$(4.14) \quad C_p = \sum_{q=1}^{p-2} [(\lambda + 1)^\mu]^q (\lambda + 1 - \alpha)^{p-q-2} (\lambda - \alpha)^{q-1},$$

$$(4.15) \quad D_p = \prod_{i=1}^{p-q} (\beta_i - 1) \prod_{L=p-q+1}^p (\lambda + 1 - \alpha - \beta_L),$$

$$(4.16) \quad \text{and } E_p = [(\lambda + 1)^\mu]^{p-1} (\lambda - \alpha)^{p-2} \prod_{i=1}^p (\lambda + 1 - \alpha - \beta_i).$$

Proof. When $p = 2$, we have

$$(4.17) \quad \beta = 1 + \frac{(\beta_1 - 1)(\beta_2 - 1)(\lambda - \alpha + 1)}{(\beta_1 - 1)(\beta_2 - 1) + (1 + \lambda)^\mu (\lambda + 1 - \alpha - \beta_1)(\lambda + 1 - \alpha - \beta_2)}$$

Let us suppose that $(f_1 * f_2 * f_3 * \dots * f_k) \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta_0)$ and $f_{k+1} \in \mathcal{H}_\lambda^{\mu^*}(\alpha, \beta_{k+1})$ where

$$\beta_0 = 1 + \frac{A_k}{B_k - C_k D_k + E_k} \quad (k \geq 2).$$

Using Theorem (4.1) and replacing β_1 by β_0 and β_2 by β_{k+1} , we see that

$$\begin{aligned} \beta &= 1 + \frac{(\beta_0 - 1)(\beta_{k+1} - 1)(\lambda - \alpha + 1)}{(\beta_0 - 1)(\beta_{k+1} - 1) + (1 + \lambda)^\mu (\lambda + 1 - \alpha - \beta_0)(\lambda + 1 - \alpha - \beta_{k+1})} \\ &= 1 + \frac{A_{k+1}}{B_{k+1} - \{(1 + \lambda)^\mu (\lambda + 1 - \alpha - \beta_{k+1})B_k + (1 + \lambda)^\mu (\lambda - \alpha)(\lambda + 1 - \alpha - \beta_{k+1})C_k D_k\} + E_{k+1}} \\ &= 1 + \frac{A_{k+1}}{B_{k+1} - \{(1 + \lambda)^\mu (\lambda + 1 - \alpha - \beta_{k+1})B_k + C_k^+ D_{k+1}\} + E_{k+1}} \\ &= 1 + \frac{A_{k+1}}{B_{k+1} - C_{k+1} D_{k+1} + E_{k+1}} \end{aligned}$$

Where

$$C_k^+ = \sum_{q=2}^{k-1} [(1 + \lambda)^\mu]^q (1 + \lambda - \alpha)^{k-q-1} (\lambda - \alpha)^{q-1}.$$

□

REFERENCES

- [1] Al-Oboudi. F. M, On Univalent functions defined by a generalized Salagean operator, *Ind. J. Math. Math. Sci.*, (2004), 1429-1436.
- [2] Acu. M, Owa. S, Note on a class of starlike functions, *Proceeding of the International Short Joint Work on study on Calculus operators in Univalent Function Theory-Kyoto*, (2006), 1-10.
- [3] Goodman. A. W, Univalent functions, *Volume I and Volume II, Mariner Publ. Co. Inc. Tampa, Florida*, (1983).
- [4] Mahzoon. H, Latha. S, A note on certain classes of analytic functions defined by Salagean operator, *Int. J. Math. Analysis*, Vol. 3, No. 13, 611 - 617, 2009.
- [5] Nishiwaki. J, Owa. S, Certain classes of analytic functions concerned with uniformly starlike and convex functions, *Applied Mathematics and Computation*, 187 (2007), 350 -355.
- [6] Salagean. G. S, Subclass of univalent functions, *Lecture Notes in Math., Springer, Berlin*, (1983), 362-372.

Received: May, 2011